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SOCIAL MEDICINE AND COMMUNITY HEALTH
PAPER —1II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying

two (2) marks. Attempt all of them.

Millennium Development Goals are to be achieved by :

(A) 2007 (B) 2010 (C) 2015 (D) 2025

In an area with fluoride rich water, the defluoridation of water is which level of
prevention ?

(A) Primary (B) Secondary (C) Tertiary (D) Primordial

The number of years of healthy life lost due to all causes whether from premature
mortality or from disability is called :

(A) Quality Adjusted Life Years (QALY)

(B) Disability Adjusted Life Years (DALY)
(C) Sullivan’s Index
(D) Standardised Mortality Ratio (SMR)

WHO target for expenditure of each country’s GNP on health care to achieve the goal
of Health For All is :

(A) 7% (B) 5% Q) 3% (D) 10%

Any loss or abnormality of psychological, physiological or anatomical structure or
function is :

(A) Impairment (B) Disability
(C) Handicap (D) None of the above

Berkesonian bias refers to :

(A) Interviewer bias

B) Systematic sampling

Systematic differences in characteristics between cases and controls

)
D) Different rates of admission to hospitals for people with different diseases



wuTfsren 2itufer ue wmattae e

qoaA —11
A : T TS | e (50) 9g-fahedia ue ¥ 1 Ue U % & (2) 3ok &1 el el o I
IS
1. HeHfes fashm aedi 1 sd qe e fohar S €2
(A) 2007 (B) 2010 (C) 2015 (D) 2025

2. U9 & foH woREe W O 2, 981 A ol WSS - i o foTg Uk i hiTal WX

STUHTT &1 2
(A) Tt (IEE) (B) WreATHE (Thved)
(C) TF (W) (D) 3T (WrEHERfege)

3. |eft wRon, fH Feyd g Aeen ruar off Sftferd €, 9 TR Sied & Wi aut Sl
el ?
(A) el Tesifee aR® 3 (LU 4%, )
(B) Teuufaferdt Tesifice TR® RS (S1.0.TA.E.)
(C) YaEm'S guead
(D) I Jeg ST (TH.TH.R.)

4. fova @ SeT (S, TA.31.) 5N ' Heh fou @’ & 3uafsy o fau yo&ie < &t
ST, 1 foRa gfoera e W S w1 Aed @ I 2
(A) 7% (B) 5% Q) 3% (D) 10%

5. gt YR & weRe, TR Steen 2Aifieh L= 31een i i eifa reen fommr=rmn &l
FIT FEd © 2
(A) STHHAT (SHRETHT) (B) faskarimar (fewufafert)
(C) TeTal (TUEihT) (D) SR H § HiE T

6. SRFTITIA AT fhTah! SR Hehd il § 2
(A) HIEEHRI 1 qaig
(B) Tt g
(C) Ui iR feizron & ot Frafid STamMa o aeror
(D) fafv= I § difed safwal ol STeqara | Al & o fafim
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10.

11.

12.

13.

14.

While analysing a data, allocation into similar groups is done to ensure :
(A) Comparability (B) Accuracy (C) Validity (D) Sensitivity

If the prevalence is very low as compared to the incidence for a disease, it implies :

(A) Disease is very fatal and/or easily curable

(B) Disease is non fatal

(C) Calculation of prevalence and incidence is wrong

(D) Nothing can be said, as they are independent

Mid year population refers to population as on :

(A) 1%t January (B) 315t March
(C) 15t July (D) 315t December

All are continuous variables except :
(A) Serum Cholesterol (B) Blood pressure
(C) Height (D) Rash in measles

WHO'’s catch-up, keep-up and follow-up vaccination strategy has been developed for
diminution of :

(A) Measles (B) Chickenpox (C) Tuberculosis (D) Diphtheria

Regarding influenza all are true except :

(A) Antigenic shift occurs due to genetic reassortment

(B) Influenza A is capable of antigenic shift
(C) Antigenic drift occurs in all the three types
(D) Influenza B is also capable of genetic assortment

Prevalence of TB infection in a community is estimated by :
(A) Sputum microscopy (B) Tuberculin test
(C) Chest x-ray (D) Sputum culture

Following statement is not true about Japanese Encephalitis :
(A) Pigs are considered as “amplifiers”

B) Cattle and buffaloes are considered as “amplifiers”
Man is an incidental “dead-end host”

)
D) Initial viral replication occurs in local and regional lymph nodes



10.

11.

12.

13.

14.
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(D) Fo ot Te Fel I Fehell Fifh A AT Th-go F T §

YAy @R ¥ oY i fme 7y § Heifed g2

(A) TH SHad (B) 319 (C) 9H SeIre (D) 31 feHeR
it FHud=E AR § faam
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(A) FfasHT afterds STafere qaisheor % HRO Bl §
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(D) TIuST ot | ot TR SiiehRor bt &1l &

et T | aufees SHH 1 Y= 1 ST FRE™ oITE Si 2
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ST AT SR ¥ foru Frefetd § & FrE we ag T S
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(B) Y IR i I 59 M) T ‘Y WA Sl T |

(C) WMa I Hanmaer * sif<m SR &1 a7

(D) IrRfyyen fawmoy o6t wfaerfaan <o d & foes Hew o 2t §)
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15. Following is not true about Insulin resistance syndrome (Syndrome X) :

(A) Association of hyperglycemia, hyperinsulinemia dislipedemia and hypertension

(B) Seen in obese patients with type 2 diabetes
(C) Insulin resistance is not due to genetic defect
(D) High levels of insulin stimulate endothelial proliferation to initiate atherosclerosis

16. As per 2001 census following is true about literacy rate :

(A) Ability to read and write with understanding in any language

(B) It relates to population above 6 years of age
(C) Ability to write signature
(D) Ability to read only

17. Under NRHM what is not correct about ASHA ?
(A) ASHA must be the resident of the village

(B) There should be adequate representation from disadvantaged population groups
(C) She will promote construction of household toilets under total sanitation campaign
(D) The target is to select and train at least 30 percent in the first year

18. Which of the following dietary sources have maximum content of linoleic acid ?
(A) Corn oil (B) Soyabean oil
(C) Safflower oil (D) Sunflower oil

19. Mental deterioration may occur due to deficiency of :
(A) Vitamin D (B) Vitamin C (C) Pyridoxine (D) Thiamine

20. The type of government where country is ruled by a family group is known as :
(A) Monarchy (B) Oligarchy (C) Autocracy (D) Oligopoly

21. Which of the following statement is correct ?

(A) 0.5 gm chlorine tablet is sufficient to disinfect 20 litres of water

(B) 1.0 gm chlorine tablet is sufficient to disinfect 20 litres of water
(C) 0.5 gm chlorine tablet is sufficient to disinfect 10 litres of water
(D) 0.5 gm chlorine tablet is sufficient to disinfect 1 litre of water

22. Inanormal curve, the proportion of observations that lie within three standard deviation
from the mean is :

(A) 95.45% (B) 68.27% (C) 97.73% (D) 99.73%

D —-8107 6



15.

16.

17.

18.

19.

20.

21.

22.

Tgfer fefredm fomem (famem ) & AR # Freafafan § 9§ e o8 78 §2

(A) TETTEEHIE, TER sAgentien, feaensdEifen oit 3= whEm § gt |

(B) T =feh f= 2159 2 AYdE ¥, STH & S 2|

Q) zHfer RSEEH 17afemes < o SR & 2|

(D) TSRIFAITEE ki Y= 37 o fore sgfer 1 gfg @ sueifeferaer wiefifthrer ok sad
Sd TSRS 1 T

2001 I SEEAT % STER HERdl & 9R H Frefafed § 9 e 92 82
(A) fordlt oft e 61 weeR fore iR g

(B) THH T 6 Y i 3 Al 9 ¥

(C) BEMER T i ARl

(D) ®TH 9& i &

‘TA.STRTELTA. o A e’ % o o e el €2
(A) ‘STen’ i SEF TTE i et S =feT |

(B) STV TSl o HH@I <l yaie ufaffere faan s =nfew )

(C) o Hyul g I o st siXe] Wimmerdl o fmfor o6 dieafed e |
(D) oM 99 | 30 wferd % =97 iR ufereror s 1 e |

frefafaa smerR-wrdl # 9w fae ot A frad sifteman @ §?
(A) HEE 1 dA (B) RIS &1 da

(C) T *1 T (D) GEHE & qel

At stemfa frefafed § & fhasht St & Hror o1 82
(A) faerfia €t (B) ot it (C) ursdreTedT (D) e

g 3o & foreht 9far wge &1 T2 2l ], 981 ot TR frefafad o 9 forg frem o o1t €72
(A) TSTd= (B) AcHdH (C) Tz wmeA (D) TR

fr=fafed & @ srar w2 872

(A) 0.5 7™ i FANRA feferan 20 feret Sa1 1 whme Amopeii | 46 & & fore 7atg T
(B) 1.0 U9 =i FANA feferan 20 foex St =1 Wshroer Imupedi & o6 e & g wate 7
(C) 0.5 U9 =i FANA feferan 10 fex STt =1 T IMmoped & g e & forg vt 7
(D) 0.5 19 i FAMA fefehan ek forex S =1 Hshmsh Amjsii ¥ 4w &3 & faw i T

Terdt = 5 X B, Yeror o feha 31U WA W i woee fefauem & s erafq ©
(A) 95.45% (B) 68.27% (C) 97.73% (D) 99.73%
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23.

24.

25.

26.

27.

28.

Question Numbers 23 to 30 consist of two paired statements one labelled Assertion (A)
and the other labelled Reason (R). You have to examine the two statements carefully
and decide if the Assertion (A) and the Reason (R) are individually true and whether
the Reason is a correct explanation of the Assertion. Select your answers using the
code given below and mark your answer accordingly.

Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C

(D

) (A) is true but (R) is false
) (A) is false but (R) is true
Assertion (A) : X-rays are highly penetrating.
Reason (R) : They have short wave length.

Assertion (A) : Breast-fed babies as compared to artificially fed babies have lower
incidence of diarrhoea.

Reason (R) : Breast milk does not contain antimicrobial factors such as
macrophages, lymphocytes, secretory IgA and lysozome.

Assertion (A) : Sex ratio in India has not been generally adverse to women.

Reason (R) : There has been a decline in sex ratio (females per 1000 males) in India
from 1951 to 1991.

Assertion (A) : In Vitamin A deficiency, Bitot’s spots appear even before night
blindness.

Reason (R) : Night blindness due to Vitamin A deficiency occurs because of
impaired dark adaptation.

Assertion (A) : Asbestos is of two types - serpentine or chrysolite variety and the
amphibole type.

Reason (R) : Mesothelioma has been shown to have a strong association with the
crocidolite variety of asbestos.

Assertion (A) : In case of grouped data, range indicates two extreme values.

Reason (R) : Range is a good measure of dispersion of values.

D —-8107 8



e : TR WA 23 © 30 T | QA THA & Th §& HYT (A) T THU BT (R) T1 3TTeh! 37
T SFHSAT I FEAUHGES LI FET 7 IR T H § foh, T€ HF (A) T FRI (R)
ST~ 3TTT Tl & 3T’ N HRUN (R) TEHeH (A) 1 Tl TER §1 i fed T wiEi 1
SUIRT T FEl IW A a1 3T ITR-YReqept § 3§ qeqey fafed i)

(A) (A) T (R) S & B 3R (R), (A) 1 FEI TIEHI T |

B) (A) T (R) T Tl € Tg (R), (A) 1 T TIBIHIT T2 7 |

(
(C) (A) T& & W (R) T g |
(D) (A) 7T & T (R) T €
23. FEHIT (A): UFHLS FATHF YA Bhelt & |
FNT (R) : IR - <= B B
24, GEHIT (A):  HiAH W W Yol oTcd dedl shi STUET T HLA STl ohl & hi 1k
H A T
FRT (R) : WA g9 H gaq  Siet fadiet d@ g A, farneey, Heded,
STEST TR TAEHSIH Tl 20 |
25. gEHIT (A):  WRA H foiv-31urd Sreroran Afgensti o gfdsha &1 8|
T (R) : feim orqura # o7t fivrere o1 §1 319 wRa ® 1951 | 1991 @ 1000 Ufa
Ul o 1w Aigened s fdt | wH o7 T
26. FEHIT (A): A A T HH G facie oest A i | of 76 yehe & 9 €|
HRT (R) : foerfi A ot &t § 29 aret T sive & WM € 9 U ufasher & s1am
AW
27. FEHYT (A): THHIH S UK H BT & — FU=TET 31206 HEdaEe YR AR TFREe
YHR |
HRT (R) : SireRferdr S TEEe™ &t BIESeEe S fher 9 Tl Trar4 S g9
g
28. FEHIT (A):  THEA AiwSl i AUNdG I | I BRI o SA<TH Tl i SR Fehd HLT S |
T (R) : S (Aofiergan) et o TR 1 71 /9 ¢ |
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29. Assertion (A) : Under NAMP, a surveillance worker visits each house in his area once
a fortnight to enquire about fever cases.

Reason (R) : If the blood film is reported positive for malaria parasites, the
surveillance worker returns to the patient to administer radical
treatment for malaria.

30. Assertion (A) : The anganwadi worker is the community’s link between the health
services and services for young children.

Reason (R) : The population served by the anganwadi is children under 3 years of
age.

SEQUENCING TYPE

31. The following steps may be involved in chlorination of wells :

(i) Dissolve bleaching powder in water

(ii) Put chlorine solution in well

(iii) Find out the amount of water in a well

(iv) Find out the amount of bleaching powder required

(A) (i), (iii), (iv), (i) (B) (i), (i), (ii), (iv)
() (i), (i), (iv), (i) (D) (i), (iv), (i), (i)

32. Identify correct ascending order of population of Indian States as per 2001 census :

(A) Maharashtra, West Bengal, Bihar, Uttar Pradesh
(B) West Bengal, Bihar, Maharashtra, Uttar Pradesh
(C) West Bengal, Maharashtra, Bihar, Uttar Pradesh
(D) West Bengal, Maharashtra, Uttar Pradesh, Bihar

33. Identify the following correct chronological order about nomenclatures used for control/
eradication of malaria at the national level :

A) NAMP, NMEP, MAP, NMCP
B) NMCP, NMEP, NAMP, MAP
C) NMCP, NAMP, NMEP, MAP
D) NMCP, NMEP, MAP, NAMP

D —-8107 10



29.

30.

31.

32.

33.

FEHIT (A): TATLTAW, & 3T Fooid Tt Teh T@aTe H 3197 & & & R | @R
% Tl bl S % o T IR 3199 I § |

FNUT (R) e scTe-fthen aiftan Weidt & fou TR e €, d Gaaid gl
U ! HAfE 1 U YR <1 & fow 39 919 oliean 1

FEHIT (A): SIS HHl fohdl TS ! Weed Fansii 31 S =i i Al & o=
H FHL B

FHRT (R) : T o T ST o oAl i STEIRT i el STTHATES! et |

3Tl % TR (FARAeH) § Frfafed o e g

(i) Sl ¥ forsien <of <l e

(i) FTH FARA 1 e ST

(iii) T H ST HT HHAT BT I AT

(iv) @ifesd fodsir 5ol i | 1 qa1 sy |

(A) (i), (iii), (iv), (i) (B) (i), (i), (ii), (iv)
Q) (i), (i), (iv), (i) (D) (iii), (iv), (i), (ii)

2001 =t STIUAT o SR T WRA o U1 § STeE! & AT | 3T A | W@ .
(A) TENY, Ui S, IR, 3™ wew
(B) Tf¥=Hl se, foeR, WeWIy, ST o
(C) Ufy=rt det, HerTy, foeR, SW
(D) o=t sier, Hewrg, S e, foer

TET TR TR AAR@ & 301/ 37e & HEHHT o AHEH Sl HITHAGER HA § {ET
(A) TTTER, A d, Wod, o
(B) AW, WTHILH, TSR, T H.
(C) WwHHH, ATTE R, AEI R, W d
(D) WTHHE, WWHLH, T, HTTE R
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The following are the manifestations of Vitamin A deficiency :
(i) Corneal xerosis

(i) Night blindness

(iii) Bitot’s spots

(iv) Conjunctival xerosis

Identify the correct sequence of appearance :

(A) (i), (iv), (iid), () B) G, (i), (iv), ()
() (i), (ii), (iv), (i) (D) (i), (iv), (ii), (i)

The different phases of demographic cycle are :

(i) Early expanding

(i) Late expanding

(iii) Low stationary

(iv) High stationary

Identify the correct sequence :

(A) (i), i), (iid), (i) (B) (o), (iid), (i), ()
() (o), (), (i), (iii) (D) (o), (i), (), (iii)

Identify correct descending order of content of Vitamin C in the following fruits
(per 100 gms) :

(A) Amla, Lime, Orange, Guava (B) Amla, Guava, Lime, Orange
(C) Amla, Orange, Lime, Guava (D) Amla, Lime, Orange, Guava

Identify correct chronological sequence of the following committees :
(A) Bhore, Mukherji, Mudaliar, Shrivastav

(B) Bhore, Mudaliar, Shrivastav, Mukherji
(C) Bhore, Mukherji, Shrivastav, Mudaliar
(D) Bhore, Mudaliar, Mukherji, Shrivastav

Identify the correct hierarchical order (for referral services) in health care delivery
services :

(A) Sub Centre, Community Health Centre, Primary Health Centre
B) Sub Centre, Primary Health Centre, Community Health Centre

) Primary Health Centre, Community Health Centre, Sub Centre
D) Community Health Centre, Primary Health Centre, Sub Centre

D —-8107 12



34. fourfqm ¢t =it frafafea w9 9 gt 2 e
() HRMFA SRfaE
(i) U e
(i) foed ¥=
(iv) herrmEad fofad
7% THe &1 & T&l BT BI ET Fifod :
(A) (i), (iv), (iii), (i) (B) (i), (iii), (iv), (i)
(C) (i), (ii), (iv), (i) (D) (i), (iv), (ii), (i)

35. SHHifEent = & fafie vee €
() IRfYeR JER
(i) <X E BH I TER

(i) = feem

(iv) 3= feer

T2 3 ot T i

(A (iv), (i), (iii), (ii) (B) (iv), (iii), (ii), (i)
Q) (iv), (i), (ii), (iii) (D) (iv), (ii), (i), (iii)

36. TrAfafEa wal (9fa 100 am) o foerfam €t i A o) 2o 69 d 98 W &t e
HIfT :
(A) 3THe, e, o, 3THES (B) 3He, 3THES, e, Gau
(C) oTHa, |, e, s (D) e, e, T, 3Fee

37. TrAfafaa wAfei & @& wershiha 8 o fme S
(A) ¥R, Hhsil, eforR, Fara
(B) ¥R, HE[TIR, diamed, qehsit
(C) ¥R, Hehsil, Farea, qefeaar
(D) R, Hferr, qehsil, Hiomes

38. TTEed Yyfq Yansii § qewor/ dansti § ATt Higt & HH &t el e Hifer
(A) SUH, TSI e s, Wi @eed &
(B) 3UH=, WA e %s, RIS WA 6
(C) nfHer TEeH v, WG e g, SUhs
(D) WS W@ g, T e g, ITh=s
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Questions 39 to 45 are matching items. This consists of two lists of statements, terms or
symbols and the candidate has to match an item in one list with an item in the other.

39. List-1 List-1I
Arthropod Disease Transmitted
(a) Mosquito (i)  Sleeping sickness
(b) Rat flea (i) Onchocerciasis
(c) Black fly (iii) Viral encephalitis
(d) Tsetse fly (iv) Bubonic plague

(@ () (o (@)
(A) (v) (i) () (i)
(B) (i) (v) (i) ()
) (i) (i) (v) ()
(D) @) @) (o) (i)

40. List-1 List-11

(a) Heat exhaustion (i) Working in an environment with high temperature,
lack of sweating

(b) Heat stroke (ii) Body pain due to working in an environment with
high temperature

() Heat cramps (iiiy Prolonged exposure to heat resulting in fainting

(d) Heat sycope (iv) Prolonged exposure to high temperature leading to
excessive sweating and circulatory failure

(@ b) () @
@A) & () (i) (i)
B) G () ) (i)
© G) () (i) (v)
D) G) () (v) (i)
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T G&IT 39 T 45 T T G- GAfCrd 3 arcll 7e) G &1 98 ST, Tal S7aT FaAihl Bt
F G &1 e @1 T Gl & STl &1 T T G/ G 7 o1 7% 75  GEferd #ferg

39.

40.

get-1 geEt-11

Hie I T
ot () Tt fassg
ERRl (ii)  SfhIEhRaTEH

ESEAEIE (iii) ITPRA TAHHEEH
e &t (iv) TR =

(@ B (©© @
(v) (i) () (i)
(i) (iv) (i) (i)
(i) (i) (i) (i)
G) () (iv) (i)

THT o HROT RS

g €

~

Tt o HROT A el T

TTHT o SRR st

@ @ ( @
(i) (iv) (1) (i)
(iv) (1) (i) (i)
@) (@) (i) (iv)
(i) (1) (o) (i)

ger-11
(i) A AIHA o TIELON H KK, TEHIAT T M|
(i) S ATIAM o TAERO H R A H IR A G4

(i) T H < T qh @A SR Here®y 918 @
ST

(iv) 3= AT9HI o ShOl STe FH e @ | R T
ST 3R T HaTeAd ol Tkl |
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41.

42.

List-1

Category of Personnel

Doctors

Nurses

Health Worker

(Male and female)

Health Assistant

(Male and female)

(@ () (0
(i) (i)  (iv)
(i) (i) (i)

(iv) (i) (i)
i () (i)

List-1

Traits

Autosomal dominant

Autosomal recessive

Recessive sex-linked

(d)
(ii)
(iv)

(i)

(iii)

Dominant X-linked

(@ (@) (o
(iii)  (iv) (i)
(i) (iv) (i)
(i) (i) (i)
(iv) (i) (i)

(d)
(ii)
(ii)

(iv)

~

)

List-11
Norms suggested
1 per 5,000 population

1 per 30,000 population in plains, 20,000 in
tribal/hilly areas

1 per 3,500 population

1 per 5,000 population in plains, 3,000 in
tribal/hilly areas

List-11

Diseases

Colour blindness

Vitamin D resistant rickets
ABO blood group

Cystic fibrosis
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41.

42.

(& T Hfeetr)

e Fehh

(q%Y TS Higal)

(a)
(iii)
(ii)
(iv)
(i)

(b)
(i)
(ii)
(ii)
(iv)

(0
(iv)
(i)
(iii)
(it)

(d)
(ii)
(iv)

(iii)

fafaa 99 faws
TifHe Tga-fass

(a)
(iii)
(i)
(ii)
(iv)

(b)
(iv)
(iv)

(iii)

(c)
(i)
(iii)
(iii)
(ii)

(d)
(i)
(i)
(iv)

ger-11
QT 7T A7
9fd 5,000 st TEET & fow T

Hfd 30,000 e (FEM)  fT Wk, 20,000 S/
Taret &l |

3fd 3,500 i STEET & faT Th

i 5,000 S A (M) H, 3,000 SN/ TETet
3

—-11

Ui e
forerfim €t Tue Rfered

T, 137, seTeyd
fagfes wraUtaq
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an T o
N N~
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=

~~ A~ ~
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o

44.

/‘\/(?/‘\A
=z > CRORCHEO

~~ o~ o~ o~
g 0
~— =

45.

\g/‘\—/

N N N~ A?AA
CiGECICICEC
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List-1
Disease
Anaemia
Hypertension
Syphilis
Diabetes
(@ (b (o
(i) (i) (i)
(i) (@) (i)
(i) (i) (iv)
@ (@) (iv)

List-1
DPT Vaccine

Oral Polio Vaccine

Measles Vaccine

DT Vaccine
(@ (b (o
(i) (iv) (i)
(ii) (iv) (i)
(iv) (i) (i)
(iii) (1)  (iv)

List-1

Causative Agent
Treponema pallidum
Haemophilus ducreyi
Donovania granulomatosis

Human papilloma virus

(@ (@) (o
(i) @) (i)
i) (@) (i)
(i)  (iv) (i)
(iv) (i) (i)

List-11

Screening Test

(i) Blood pressure
(ii) Blood glucose
(iii) Haemoglobin
(iv) VDRL

(d)

(iv)

(iv)

(i)

(iii)

List-11
(i)  Polyvalent vaccine
(i) Mixed vaccine
(i) Toxoid vaccine
(

iv) Live vaccine

(d)

(iii)

(i)

(i)

(i)
List-11
Disease

(i) Granuloma inguinale
(i) Syphilis
(iii) Condyloma acuminata
(iv) Chancroid

(d)

(iii)

(iii)

(iii)

(i)

18



43.

44.

45.

(@ O () @
(i) (i) (1)  (iv)
i) (@) (i) (iv)
(i) (1) (iv) (i)
@ (@) (o) (i)

S I
TR iferar A=
THU AR

3. A

(@ ((b) (© (@)
i)  (iv) (@) (i)
(i) (iv) (i) (i)
(iv) (i) (i) (i)
(i) (i) (iv) (i)

(@ (b)) (0 (@
@) (1) (iv) (i)
@ @) (o) (i)
(i) (iv) (1) (i)
(iv) (i) (i) (i)

11
i) difcrelcie e
i) THeTe daH

iii) ITRAIZE R
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46.

Read the passage below, and answer the 5 questions that follow on your understanding
of the passage :

India came very close to eradicating polio in 2005 when only 66 cases were
confirmed in the country. While the polio outbreak in 2006 was a setback to the
programme, this outbreak was smaller than the 2002 outbreak. As of 19th January
2007, 655 cases of virologically confirmed polio were reported from the country with
onset of paralysis in 2006. Of these, 634 are of polio type 1 and 21 due to polio type 3.
A large number of polio type 1 cases (76% of the 437 type 1 viruses sequenced to date)
in West U.P. are of a single genetic group which spread from Moradabad and
surrounding districts and infected much of West U.P., parts of Central Eastern U.P.
and some districts in neighbouring states. Seventeen percent cases are from a second
genetic group that originated in endemic districts of North Central Bihar and spread to
several other districts of Bihar and Eastern U.P. Type 3 WPV though continued to
circulated in 2006, but remained localized to only five districts in and around
Moradabad.

The unexpected turn of events during 2006, which saw resurgence of wild polio
cases in traditional endemic regions of Western Uttar Pradesh and Bihar, has shaken
confidence of many partners engaged in polio eradication initiative in the country.
Doubts are raised by different quarters on the effectiveness and efficacy of the vaccine.
A thorough dispassionate analysis of the reasons would reveal that the real reasons for
having yet another outbreak despite using a more potent vaccine (monovalent-OPV)
were not related to poor strategy but lack of proper implementation of it at the grass
root level. Broadly, they can be clubbed into two sub-heads :

(i)  Poor performance of SIAs in highly endemic districts (especially in Moradabad
division) during later half of 2005 and early of 2006.

(i) Sub-optimal efficacy of t OPV in western U.P.

The former was the main factor that allowed formation of reasonably significant
pool of poorly immunized children that not only facilitated smooth viral transmission
from Moradabad division to rest of other districts of Western U.P. but also to the Central
and Eastern U.P. The genetic analysis also confirms rapid spread of a single PI cluster
to cause widespread paralysis within a short span of few months. This gap in
vaccination coverage also indirectly undermined the efficacy of OPV. Peculiar
environmental and socio-demographic milieu of Western U.P. (high population density,
high birth rate, poor sanitation, etc.) coupled with poor SIAs performance with
consequent low coverage made the task of OPV even more daunting in these areas.
Falsification of data and fierce resistance by the minority community in Western U.P.
further contributed to poor coverage in key districts having a very high force of type-1
polio virus.

Which of the following statement is true ?

(A) India came very close to polio eradication in 2005
B) India came very close to polio eradication in 2004
India came very close to polio eradication in 2003

India came very close to polio eradication in 2002
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46.

et faw uft=ee &1 g 3T 31a+t TueT & S 5 99 & Q-

AR 2005 H Giferdl Ie o foeiehal el Ug= o 5ol o 9 H THoh hael 66 WM A |
2006 H dreftett & Her ¥ 39 HEHY HI THEH Tgd TR et F I8 Yehid 2002 F Fehid
HHA A1 19 SHE 2007 Tk < 9 Wil &A™ I ANl i o 9 gg o A9i
T 3TFT 2006 H TREY G711 STH § 634 I Wil 289 1 iR 21 1 Wiferall 2189 3 % RO gl
ol | IR YW H T 26U 1 % "Heli | (437 Y 1 SREEH & 76% SR HRud 316
T e o T €) T & TRe F RIS T T A § S e 9 hel R USM %
el # T o e et SW aew, Fsa gt SW ey IR § TSl TS9 I §hiaa
F feam1 17 wiaea 9t fodia ST7afme 998 & %R0 U S gy SW-Tet fo8r &
Tefre SRl @ gom iR fiR foer & 3 e’ 3R gt S wew # el T 2Ry 3
Tooy W3l T 2006 T el T AR I8 GUREGE o 36-1118 o 914 Fieel dep S @ |

2006 | FeMSA & SHeTUfRE URadT & Hrv, e ufeedt S Wy IR faer &
IReaRes Tefien &l # arsee Wiferdl o Amel OF: Yohe §U €, <9 § ifeal S< e SR &
T Ferdeh WIGRI o foread il Smeheiia © | fafvs S g STOATE T8 0T & gl 3 3K
Y % STERER T o Tral=] § IfehTT oFeid ki & | IO bl T8 TIweTaor 3 § al =i
o STeT yoIet oA (WHacie- 3T dat. ) o TR e R off T T SRT el T SR gad
TG TET AT | 5o fTT 9 ShTeishH ol JUIel &R W 3(9d &7 9§ N 7 1 STERT o411 3%
T STA-TE o ST TN ST Hehell T |
(i) 2005 % frer 21¢f 3R 2006 % YRFEF 9T H 3= Uefheh & fosoaan queEE qvea

T TH.3TE.T, 1 i o6 =2 @i
(i) o=l ST YW § .G o1 3fed 9 A TORRRT BT |

I | U9 g SR o A 70t Uiorfard aret §g, S aenefadn weequl o, e
a1 =9 =1e1 w9 A qUeEE qued § ufiedl S Uew o o1 fSiesl H 36 ard & qEu
Sl Kol T8 &1 T8l o STfUq, 3§ et S Yo ah UgH fean | 36k STgafieh faveror 9
off 71 qfte Bt © fob, 7T Ot 1 Weg & dSit 9 o & R0 5 7SI o 3Ted 992 | & o7
1 T el & 9 gig g8 B 1 STohTeRton shast shi 59 T+ ST 3. ST T[urehTRar st sToeet
a1 o fean | afve ST USH w1 STYd e SR Wi SHEiferen! a1 3o SHe
AT, S S S, Te3dl i Rt oG, 3R UH.STE.U, & Y hid-{To1e & RO IehTehol
I HH Hoksl ge Ty NHLE. 1 HE T & § iR off Ay & T W uSw &
STCTH@IhI NI 3Tihel ! AN IR «fiwor fadiy & &7 &= o ofiwor wifes o6 21e9 1 9
i VAR off, 37 g el | 7 Fheks g § ST ARIeH el ¥

frefafed 5 9 e wo 98 77

(A) ¥ 2005 H 9RA W@l SV % agd e 3T e o |
(B) 92004 H YR Uifctdl I & =gd fTehe o1 et AT |
(C) §92003 § YR Gifctdl I & =gd Tehe o1 et AT |
(D) ¥9 2002 H YRA W@l 39 % agd ke 3T e o |
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47. According to the author the real reasons for the 2006 outbreak were :

()

Poor performance of SIAs in highly endemic districts

Efficacy of t OPV is greater than mOPV 1

Suboptimal efficacy of tOPV in western U.P.

(i) and (ii) (B) (i) and (iii) (C) (iii) and (ii) (D) only (i)

48. Match the year and the type of polio virus with the number of polio cases.

(a)
(b)
(©)
(d)

Q.

0= >

S o

2005 i 21
2006 total (i) 634
2006 type 1 (iii) 66
2006 type 3 (iv) 655

(@ O () @
(iv) (i) () (i)
i) () (i) (i)
(iii)  (iv) (i) (i)

i) (@) (o) (i)

49. Identify the correct statements :

()

The type 1 virus did not spread from Moradabad to Central Eastern U.P.
Type 3 WPV remained localized to only 5 districts in and around Moradabad

The genetic analysis also confirmed that a single P1 cluster did not lead to rapid
spread

2006 saw resurgence of wild polio cases in traditional endemic regions of Western
U.P. and Bihar.

(i) and (iii) (B) (i) and (ii) (C) only (iv) (D) (ii) and (iv)

50. The author is primarily concerned with :

(A)
(B)
(C
(

)
D)

D —-8107

Epidemiological analysis of polio cases in 2006
Efficacy of IPV and OPV
Analysis of the polio control programme

Reasons for spread of WPV in Southern Indian States

-00o0-
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47.

48.

49.

50.

TGS ITTER T 2006 H FRMER & T FROT &

() = wIefhe fell § TH.STE.U. %1 Td yeeE

(i) S.3NR . T o TH.S WA, 1 9 ST g

(iii) ot ST U # AR w1 3fed § wH R

(A) () 3 (i) (B) (i) 3R (i) (C) (i) 3T (i) (D) e (i)

Y o QT 9RRE o JhR hl Giferdl o 3Tihel o d1e Fafed &
2005 G 21

2006 (FHa) (i) 634
2006 219 1 (i) 66
2006 <159 3 (iv) 655
(@ @B (©© @

(iv) (i) (i) (i)

i) (v) (i) (i)

(i) (iv) (i) (i)

i) () (iv) (i)

a

(

(b
(c
(d

o O~ = ~~—

SoE=zz

TR FHYAl B I BIFS :

() <TEY 1 IR USEE 9 A Y8 ST U § & thal o |

(i) <MY 3 Sood, Ul USSR a1 3Heh ST o qi= TSl # Hifia o |

(iii) STIaTereh foreeT 59 aG i ¥ A § o, stohen o 1 W9 el Tifd & =& Shem

(iv) §F 2006 § G ST Yew 9 foR & IReaRe TAefis &5 § aree difesl o Tl
1 GG |

(A) (i) 3 (i) (B) (i) 3 (i) (C) had (iv) (D) (i) 3 (iv)

i

TS 7 fHY ed: THR Tl 8?2

(A) §7 2006 | Tifel o TSI o1 TifeHarsieha fageror
(B) AW T UL, I YUrERIRAr

(C) ifcran FsT =6y o1 fowermon

(D) <faolt vRA o Tl § Ss d.afl. 1 thetd & &R

-00o0-
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